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403 MXISHHMSKHE0IA 4,220,000 0 4,220,000
01 REXISHHI A= 2 & 4,220,000 0 4,220,000
(Is=2E2]eIH0| A4S MASHE LY 4,220,000
S=Z 10| UEEE N ESHAIA 682,500 0 682,500
308 AXIEHMSOIN 682,500 0 682,500
01 AXSHHBNEERS 682,500 0 682,500
Os2E]0|AZZH NESHKIE 682,500
JEIHI0| QA HIA TS A 45,000 0 45,000
308 AHXIHM SO & 45,000 0 45,000
01 IXSHHBAERS 45,000 0 45,000
OO BH0| 4 A m AT e A 45,000
Ol A HFAEFEAY| 101,350 111,350 A 10,000
201 B2 AY| 1,350 111,350 A110,000
01 A=R2teld| 1,350 111,350 A110,000
[Jer==ZH| 1,350
OstgE0I 201 =29 424 1,350
308 AXISHMSOIN 100,000 0 100,000
13 S| 2SHICHEHE A E L EFALH] 100,000 0 100,000
([T YOI R ges B 100,000
HIOI QMR R SHR =X 4,320 4,320
203 PYRF=&IH| 4,320 4,320
03 A F=AIHRFAIH| 4,320 4,320
CHOIQAHREH R =X 4,320
St MRS 2,419,600 2,413,600 6,000
SOl OF ALY M RISHXI R 810,000 804,000 6,000




Mot = 2A 8ol
Ol2MYMASH (MY - SAINLLHEX/MHRE
S AR A
CRA - EB . O9(B) - HRAY - BaS A
308 AXISHMSOIN 810,000 804,000
13 BI |2 SUICHEHZ A X L EF ALY 810,000 804,000
CIeto| orat A A &ISHA & 810,000
SOl A TH 2 AL 900,000 900,000
308 AXISHMSOIA 900,000 900,000
13 BI 12 SOICHEH B A X LEALH] 900,000 900,000
steletA e 900,000
SRS AAAEEX 609,600 609,600
403 REXISHHIS K201 & 609,600 609,600
01 AXISHHAEER 609,600 609,600
OstA M S 2AIE A X 609,600
PeAHF SR A LS AUTNZE 2 AHHI XA 50,000 50,000
308 AHXIHMSOI & 50,000 50,000
01 IXSHHBLERS 50,000 50,000
RSt A MR EXN AL EATHS E At
A& 50,000
MU= HI XA 50,000 50,000
308 AXISHMSOIA 50,000 50,000
01 XIXIEHHBAE LS 50,000 50,000
OGS ASHIXA 50,000
SIEBAEFTH 1,077,300 1,330,800
SEHIANHE S LR AALS 602,300 330,800
201 Ler23| 2,300 800
01 AtR2elt] 2,300 800
Opt=2H| 2,300
ORI EFN L 1,500
OstEsd s +-2H| 800
308 AXISHMSOIA 600,000 330,000
01 AXESHHZAEEZ 600,000 330,000
O &S Z3 S 23} 90,000
CKFEIMS=UJA0MHE X 300,000
OFSEs|MPI IR T2 ME 60,000
(RS EBHT2ACIAAE RS 150,000
HAGHHESEL0IHAATY 225,000 750,000
308 AXISHMSOIA 225,000 750,000
01 AXESHHZAEEZ 225,000 750,000
OHAEAHSE S 20IHASS 225,000
FEIMAUSHYCIHAHBAX AL (ZIIAEXIH) 250,000 250,000
308 AtXIHM SO & 250,000 250,000
01 AXSHHBLERS 250,000 250,000
OREIMSUIKIAHEB AKX A 250,000
oA sHUT A 1,866,000 695,000




BRSPS Falges

dEdHAE (et &)
SA - HE - B2(80) - HIRAY - B A HIDEZ
S SEATHIIBADISERIDIMSS 195,000 195,000 0
)
308 AXIHSOIA 195,000 195,000
01 XN BSELS 195,000 195,000
LM SHEADISERIIMHF 195,000
H3sado=sgsixd 100,000 100,000
306 EX= 100,000 100,000
01 £g= 100,000 100,000
O3 =s3He=2=s8e2NTdi 100,000
ICTESSUE0IMED I ASHHASAY 1,241,000 0 1,241,000
403 TR SHMSAH=01H 1,241,000 1,241,000
01 AR A =2 £ 1,241,000 1,241,000
QICTES=SS00IMEI DI ESHE R 1,241,000
AL StHAI S HL ALY 250,000 250,000 0
308 AXIHSOIA 250,000 250,000
01 XN BSELS 250,000 250,000
O ot ARSI =AY 250,000
OIQEAMASHAXA 50,000 0 50,000
308 AFARIEHMSOIE 50,000 50,000
01 HAHHBSEXS 50,000 50,000
CIOICHEBI0I QA AMA T LT 50,000
EASS AL E XA 30,000 30,000
308 XXM SOIA 30,000 30,000
01 MRS LExXS 30,000 30,000
IS e ill= =N b 30,000
M2 AU (Ho| P A L) (DIEH/JIE} 65,678 63,460 2,218
=ll 65,678 63,460 2,218
=3l 65,678 63,460 2,218
201 et 3| 28,280 30,560 N2,280
01 At2t2l] 28,280 30,560 2,280
g et+=ZH| 7,800
ONFESHESF L 6,900
OAEEASEH 900
W= 12,480
OgRFaZAHI 12,480
2g=+<g 8,000
OXISGEdE s A/=ES 8,000
202 04t 34,398 29,900 4,498
01 =LHOHI 34,398 29,900 4,498
Oge=a048l 34,398
203 =4l 3,000 3,000
M FA2SHIFII 3,000 3,000
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HI(HHO| A4 AP k) (DI EH/DIEH)

&l D122 (CH9): &S
- o q LS
AT 2A B BR(E) - HRAY - BES O]t e HlRE2
(1150l ot 3,000
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SWSAHIAZS} EER=E)
CRA - FB . O9(B) - NRAY - BAS ol b e HlmS2
| Dnscunsodzsia=unbol 70,000
DEAXIERISHAH AP 6,518,200 2,930,200 3,588,000
403 XIS SKHE0I & 6,518,200 2,930,200 3,588,000
01 A= 2L 6,518,200 2,930,200 3,588,000
(DSANSASHAHATYXIS 6,518,200
Sg8usS+HAYXA 926,900 592,800 334,100
403 NI S =01 926,900 592,800 334,100
01 XIS EE 926,900 592,800 334,100
SHNS4CIAUN R 926,900
ZA0ISX2HEHEXI2E 1,217,000 1,167,000 50,000
307 212t01™ 1,217,000 1,167,000 50,000
05 81l 1,217,000 1,167,000 50,000
BEEVEEGRIZES 1,217,000
SEHNS2Y 1,535,000 1,365,000 170,000
308 XIXIEHHISOI & 1,535,000 1,365,000 170,000
01 MK N ELS 1,535,000 1,365,000 170,000
O=sE=33EHAIXA(XSEH]) 550,000
(s&2BEHATNH(NSEH) 985,000
T=REHEANSHAASXE 230,979 244,097 A13,118
308 XtXIEMSO0IE 221,100 200,000 21,100
0 XIXISHHZ A2 XS 221,100 200,000 21,100
O+QSYHABHAALXE 221,100
403 AXIEHMSAH=01d 9,879 44,097 A34,218
01 MXIHH A =22 9,879 44,097 A34,218
O+28g8ABHATAN 9,879
AN X2 2 855,270 1,007,760 A152,490
308 AXIHMSOIA 855,270 1,007,760 A152,490
01 X SHHBAEXS 855,270 1,007,760 A152,490
OSAIZR 2 AR 855,270
AN2S X 297,200 216,000 81,200
308 XtXIEMSO0IE 66,000 66,000 0
01 RSN EES 66,000 66,000 0
OSSZLAIRBHINA 66,000
403 AXIEHHSAH=0lH 231,200 150,000 81,200
01 MXIHH A =22 231,200 150,000 81,200
OEHEZSSHAIAISAIA 31,200
O-FERADHXIE 200,000
SEHAZEXZ 90,000 90,000 0
308 AXIHMSO0IA 90,000 90,000
01 XN EES 90,000 90,000
D2SHAZ XIS 90,000




AR AR SN DERHY
M DSAYITAADE(DELSR/USDE - 22506
&el: tsusAtblAdst EER=E)
4224 - HE - B9I(EH) - AIRAY - B of v e HIDE2
ANAHAZSAE XA 16,618,550 16,832,000 A\213,450
307 212told 16,000,000 16,000,000 0
QB 2=gHEXS 16,000,000 16,000,000 0
OAIIBIATHE R ZEX2 16,000,000
402 2IZtA=01d 618,550 832,000 A213,450
01 QI XHZ AL E (KM THE) 618,550 832,000 A213,450
OAIHAS M E R Al S ZHIHE K12 488,550
OAIHAS S0t A X E X EE XX
& 130,000
ANUESHEHASSAIHRIZ 4,668,160 6,193,220 1,525,060
308 XXM SOIH 4,078,480 5,538,500 21,460,020
01 XN BSELES 4,078,480 5,538,500 21,460,020
CDAUSHEHATHAL ZEX 4,078,480
403 MR HHMSAHE01H 589,680 654,720 265,040
01 A= 2L 589,680 654,720 65,040
OAMUSHEHAHHNXLSSHA (X
el 589,680
WSAHROISESEXE 465,000 373,500 91,500
308 AFAIHMSOIH 465,000 373,500 91,500
01 AXEH B2 LS 465,000 373,500 91,500
OMEHARE XA 465,000
SENESH2LXA(SHA) 2,413,000 1,154,000 1,259,000
308 XXM SOIA 2,413,000 1,154,000 1,259,000
01 XN BSELES 2,413,000 1,154,000 1,259,000
OSg8uS+H=38XE 2,413,000
CAIENSZ2E (A 617,000 557,000 60,000
308 AtAIEHMSOIE 617,000 557,000 60,000
01 HAHHBAEXS 617,000 557,000 60,000
OSASSEHAIXA (XS EH]) 617,000
CANERNS2(HA) 1,293,000 1,130,000 163,000
308 XXM SOIA 1,293,000 1,130,000 163,000
01 AXH B2 LS 1,293,000 1,130,000 163,000
OSAISBEHAXIR (KISEH) 1,293,000
HAN LN A2 A 4,989,000 4,888,720 130,280
308 AHXIEMSOIH 4,989,000 4,888,720 130,280
01 HRESHH B E2ES 4,989,000 4,858,720 130,280
OYACHXEZAMS(XSZH]) 4,989,000
2K XSXHEDIE XA 435,000 0 435,000
308 AtAIEHMSOIE 435,000 435,000
01 HASHHBSEXS 435,000 435,000
DA XNSIHEDIE A 435,000
HNHAARR X S =ML XXX 74,000 0 74,000




A ZRAR SN SR
M DNESMAITIRAF(WELER/UHEWE - EFSIIE
o H=snsSAdA2st (CH9: &S1)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
403 XX SHHSK=01A 74,000 74,000
01 MXIStH 22 £ 74,000 74,000
O AEHAAIXHES I E X LXK 74,000
SZUEFHUISHEAI2E XA 100,000 0 100,000
308 AXIHMSOIH 100,000 100,000
01 IXSHHBAEELS 100,000 100,000
SguSsHUISHEAI2ZE XA 100,000
FESHEHASSHEHZAE 105,000 0 105,000
403 XIS MS 201 105,000 105,000
01 XXt AH22 = 105,000 105,000
OZE=sHEHASSHEHAY 105,000
BAIF DI SEXILEXIXIA 51,093 51,093
403 XX SHHMSKH=01A 51,093 51,093
01 AXIEtH 22 £ 51,093 51,093
CIEAIE D ISE XL XX 51,093
WS MM 3,106,850 3,457,500 A350,650
NSHMEMFLA 461,000 448,200 12,800
201 L2 | 31,000 101,000 270,000
01 At 22|l 31,000 101,000 270,000
O eh~=2H| 23,000
OUSHNEZESHEE 14,000
O0elol=olnSAI NN S!Et=E2 S
S 9,000
O2ds¢ 8,000
OuNEHHEAMANASHE 8,000
207 AR 80,000 80,000
01 2 EH| 80,000 80,000
OH4XIE A4S E N SAR0ISH SRR
Hel=g=3 80,000
307 QI2Hol A 180,000 250,000 270,000
02 QIRHHAAIHE X 180,000 250,000 A70,000
nSete = 180,000
308 AXIHMSO0I& 170,000 97,200 72,800
01 XN BAELS 100,000 97,200 2,800
ODEXSHHAS AR BHECIHIE| S 100,000
13 SISO E AR PE A 70,000 0 70,000
OuSotEABHIYEE 70,000
WE2sH-JA2G X 1,370,000 1,361,000 9,000
307 QI2H0| A 1,370,000 1,361,000 9,000
03 QIRIEHXHE2EHIB X 1,370,000 1,361,000 9,000
DuEsH+=2A2 3K 1,370,000
WNSHMAILES A 1,000,000 1,520,300 520,300




A= FHaE= 2A 1 nSE
M DNESMAITIRAF(WELER/UHEWE - EFSIIE
Rl WESetEIH EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
403 XX SHHSK=01A 1,000,000 1,520,300 A520,300
01 MXIStH 22 £ 1,000,000 1,520,300 A520,300
JwSoHEAIEES A 1,000,000
DEN2HHS X B A SR 95,850 78,000 17,850
308 KXIHMSOIH 95,850 78,000 17,850
01 AXSHELEES 95,850 78,000 17,850
OS2 MHG AR BHS 2L SEAL 95,850
WEHMAILLEX(FLI=A) 180,000 50,000 130,000
403 XIS MS 201 180,000 50,000 130,000
01 XXt AH22 = 180,000 50,000 130,000
OZ S ELSUSTEINMHLE X 50,000
OF0IEdsEHSSHEX 50,000
OB AAHHASZEOHHEAE X 50,000
OZS Ol S8 H 2 IS ZHAX 30,000
wSSEIMNS 20,974,800 26,675,300 25,700,500
NS=FEMFA 17,500 17,500 0
201 23| 17,500 17,500 0
01 ArR22ltl 17,500 17,500 0
O et=2H| 14,500
OsnSHEHAHABIS RO 14,500
O2ds¢ 3,000
O=FHANAHEE MR ASES 3,000
QEWSIEAHOIL I XIXA 226,000 230,800 24,800
308 AXIHMSO0I& 226,000 230,800 24,800
01 AXIEHBAEES 226,000 230,800 24,800
DS WSIHEAA DL el XX & 226,000
SEFREHE (HBAIY) 15,735,000 9,383,000 6,352,000
403 XX SHHSK=01A 15,735,000 9,383,000 6,352,000
01 MtXIEtH 22 £ 15,735,000 9,383,000 6,352,000
OSS=xEAHE X 15,735,000
FJSNHSUHSS R DX A XS (FHEAL) 4,000,000 4,330,000 A330,000
403 XX SHHSA=01A 4,000,000 4,330,000 A330,000
01 AR AH=2E £ 4,000,000 4,330,000 330,000
k=N =P DN N P =D 4,000,000
HAXNSIEHIIELEFESZ N 180,000 100,000 80,000
403 IHXISHMS 201 180,000 100,000 80,000
01 XX A= E X 180,000 100,000 80,000
O XS IEDIE 2 Z A 180,000
OlcHE (RISt ) NS S22 2y 80,000 0 80,000
307 QI2H0| A 80,000 80,000
02 QIRHHAAIHEE X 80,000 80,000




EPNFalgeaie, =
SttgelEgRF(NsSYLESF/UHSNS
S8ANH 7lEd)
SA BB BI(B) - MRAE - B A HIDEZ
COIHE (SR NSIUHEFHZUHA 80,000
HESnSHESXEAL (OFEK-THA) 361,300 361,300
308 AXIHSOIA 361,300 361,300
01 HXHHBAEES 361,300 351,300
OtHsnSH S XA (OHEK-THA) 361,300
HASS X DX X2 AL 215,000 0 215,000
403 AXIEHMSAH=201H 215,000 215,000
01 AR A =2 £ 215,000 215,000
OHASS XU OXXE (KESY) 215,000
SEFINETH(FLU=H) 170,000 0 170,000
403 XM SAH=01H 170,000 170,000
01 AR A =2 £ 170,000 170,000
HEFsossgTiasdsd 70,000
OIS SEFHNUHMF=HE LY 100,000
AH2S (WS (JIEHIIE 70,89 65,360 5,536
=34 70,89% 65,360 5,536
Jl=2&H] 70,89% 65,360 5,536
201 Zet2d] 24,960 24,960 0
01 AlR2telHl 24,960 24,960 0
eS| 9,600
OMNFESH=SAYHIS 3,550
OLEEASHLHIE 1,500
OAREHIE XL AR2+HHIS 3,550
O3tz RS 1,000
=gl 15,360
OgeFAIAHI 15,360
202 04| 42,336 36,800 5,536
01 =LHOHI 42,336 36,800 5,536
OgES=2048l 42,3%6
203 g4l 3,600 3,600
M EA2HER=AH 3,600 3,600
2oelol st 3,600




H & 0l & AHS B Ml A

20248 =0ila eI S

AR AR SN DS
S HAZ=O0I0IXNMI(LESSHE/UBIEN)
=2l oieluF2at EER=E)
CRA - FB . O9(B) - NRAY - BAS ol b e HlmS2
AN 16,231,660 19,179,004 AN2,947,344
QE=S0I0INM (LB BHE/UBIEHH) 4,989,232 4,722,080 267,152
o2l wF2tst 3,601,132 3,228,880 372,252
HeluF Ltz 363,032 369,580 6,548
201 L2 | 100,000 35,000 65,000
01 At 22|l 100,000 35,000 65,000
[Jer==ZH| 100,000
O uFELIESHULHTUNES 100,000
202 Ot 9,100 9,100
01 =WO4bI 9,100 9,100
Lol B F Lot LI MBAIH =& 9,100
203 PR =&IH| 13,932 15,480 A1,548
03 A FAIH R FAIH| 13,932 15,480 A1,548
O=MAHZEH A N FESHRFA 6,966
O=H2HSLFA 6,966
307 2I2+01A 50,000 50,000
02 QIRHEAAIHE B X 50,000 50,000
CJHI KN RS EA =S UALZE A=A 50,000
308 AHXIHMSOIH 190,000 260,000 A70,000
13 BI |2 SOICHEH B & E L E AL 190,000 260,000 A70,000
(HES=uUFEIAE 60,000
OWFEENISRA 30,000
S =20{ 251 CHElOh = 70,000
A G NI ALY 30,000
QAR ESEASHEAIS 275,000 266,000 9,000
201 L2 | 53,000 53,000 0
01 ArR2eltl 33,000 33,000 0
g2 25,000
OMAXNMRSEAINFE - HAHIS 20,000
OAENEZRLUS 5,000
Ogxt= 8,000
OMAXNRSEA N F XXt 8,000
03 A2 G| 20,000 20,000 0
L= X2 S 0= L B AR D 20,000
301 LB F 62,000 32,000 30,000
09 QIBI=& NI 60,000 30,000 30,000
CoHI MRS EAIEH 60,000
11 HALAHIXIEZ 2,000 2,000 0
CJoHI MRS EAI=H 2,000
307 212+01 A 125,000 70,000 55,000
02 QIZtBAAIEE R 60,000 0 60,000
OS2 O0tAIOIEFEHHZ N R E S ALY 60,000




= 3NeE= M usSat

I

M GHQlZ20/0INN (L BDHE/UBIHE)

ol oius2st (CH9: &S1)
AR R BB B(3H) - MSAY - BES 0l arey dix HIRS2
d= - A - R F 45 . 0l & =
04 CIZISHAAIR B X 65,000 70,000 A5,000
2= AEHZIIMEHD 65,000
308 AXIHHSOIA 20,000 96,000 76,000
13 S| 2SS EAEHEAIS DI 20,000 96,000 A\76,000
SAAIOIK G N FSEHSAIS 20,000
310 =22/0|& 15,000 15,000
02 ZHEEE2 15,000 15,000
COMIAI R XX S HI A SHUCLG) P 3IHI S 15,000
NA KRS EA 2R NE2R 31,000 31,200 A200
201 LBt AH| 23,000 20,400 2,600
01 AtR2teld| 21,200 19,200 2,000
Ost=ZH| 11,200
O=Hunsst=Hu=H| 7,000
OZHOFAZAO|EL2ARIHIS 4,200
e x= 10,000
O=ZHLNSAZALIES 10,000
02 S32ZH| 1,800 1,200 600
(22222 A 1,800
O=MLSABAANSS22S 1,800
301 LEtEX 2 8,000 10,800 A2,800
14 J|EI2 &= 8,000 10,800 N2,800
=2 MuSXS 24 8,000
QRN SRAXTEHEGHZHAHASAIY 60,000 90,000 A30,000
307 21Zto| ™ 60,000 90,000 230,000
2 QI2ZFEBAMAIEE X 60,000 90,000 30,000
OA2ZX NN SRRAXTEHSZHAHAS=AIS 60,000
2025APECHR X R =& 960,000 280,000 680,000
201 LEr2AH| 40,000 130,000 90,000
01 AFR22t2ldl 20,000 100,000 280,000
[Yet~2H| 20,000
O2025APECA A S| | S X EE 2SI & 20,000
03 A2 H| 20,000 30,000 A 10,000
CJ2025APECE A S| 2l 2 XI 84 AP 20,000
308 XAXIHHSOIA 920,000 150,000 770,000
01 AIXHAMBAEEXZ 920,000 150,000 770,000
[12025APECE A3 o) 3 XI K| & 920,000
=MZAHUHAISH 31,200 31,200
201 LEtEAH| 31,200 31,200
01 AFR22t2ldl 24,800 24,800
Oet~2H| 8,000
OZHZHUHAIZAIZLAIRZEERUS 8,000




=

2 R

S HAZ=O0I0IXNMI(LESSHE/UBIEN)
&2l oHluF st EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
DXtz 16,800
O MZH A2 EX & UR= 16,800
02 2329l 6,400 6,400 0
O332=2HAl 6,400
OZHZHUAIZAI S 222 6,400
SN ImEes==PNL| 580,900 860,900 280,000
201 L2 | 48,800 48,800 0
01 ArR2eltl 33,800 33,800 0
[ et==H| 23,800
O UFAHRS - HAHIS 19,000
O=HE#AEIISFHI 4,800
Ox=z 10,000
Ot WFEAI2BI8HZ X2 Xt 10,000
03 &At2ZH] 15,000 15,000 0
oA 03 8-S KR ALY 15,000
202 04l 9,100 9,100
01 2ol 9,100 9,100
O=HuSEESLFE0 9,100
301 LEtENZ 53,000 33,000 20,000
08 212tel=20it| 20,000 0 20,000
OoleluEESE XA 20,000
09 2ABIE=H0OHI 33,000 33,000 0
oA 23 8-S X3 ALY 33,000
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